2T O UDN WD NN A A RS
g MO V| 0| == | NN 5
g N|l—|MlX>=>| O o |44 (JdME=E
sl | M| O 1 o|r~ || O] O Flo
O | Q| Z | x|{Mid] = = kS
= S |o| |22 ==
5l M = m | m kS
S| O < O|l=|=|9O| -+ gz 1:100
“ =0 Q —~ — — = Tl N >
—< =z ||| M= |20
> | G m -
| O O | O = | = =
M| Un = | < _ S
2| O = | —
= =2 | 7|35 g5
<|Z|lc|= <3
=~ | = : 4 g8
O > N o
S| & :%
N (_'." (=4
[{=] o o
: sk
3 3 3
> 23
= _|317.80 2.08| 1.88]323.82|325.70| ¢1.0m
~ — Istn. wod.
320.62 o 324.24 Istn. kabel telek.
N
o
8
o0
332.65 N 526.05 Istn. gaz. N\ N\
o rura_ochronna Tt
£ _|336.10 S 1.83] 1.63|326.57|328.20| ¢0.425m AN
o — Proj. wigczenie kanafu Dz160/§0/Rz.d.=326.57
> Istn. kabel telek.
R gy
= =
= 28
S N O
= I S
o S~
o =5
5 _[349.15 3 1.90( 1.70]328.40| 330.10| ¢0.425m S w =
= N ©
< |851.25 o\ > 328.57 Istn. wod. > S g
\ S 3
5 _|$53.15 o 2.08| 1.88]328.72|330.60| ¢0.425m S =
< E Istn. qoﬁ. 32
R rura ochronna -3 §
3¢
>
8 —_—
o
=)
n
5 _|369.20 S 213 1.93]330.97|332.90| ¢0.425m N\ N
@ ~ Pro]. wigczenie kanafu Dz160/160, Rz.d.=330.97 \\ @
o)
N \\
\
\v
\
2 \
3
\
\
g \
403.48 ~ 333.54 Istn. qaz. \\ WA
o rura_ochronna el
404.08 ~ 333.59 [stn. wod. \
£l \
= _[409.60 S 210 1.90{334.00|335.90| ¢0.425m , =
[{e] — [{e]
o~ stn. kabel telek.
o 2 stn. wod.
& oo stn. gaz.
o rura_ochronng
=_|417.65 O 2.07| 1.87]335.13|337.00| ¢1.0m =
S N Proj. w{gczenie kanafu DzZOO/}(X). Rz.d.=335.13 S
NN Istn. wod.
420.90 335.23 [stn. energ
Istn. gaz.
423.58 335.31 rura ochronna
&
3
N
W
N
(@]
=_[440.95 3 1.77] 1.57|335.83|337.40| $0.425m =
a o) 3
N =
o
E
(8} =.
° 1O o 3
o -
NS 2
= _|456.45 3 1.93] 1.73]337.07]|338.80| ¢0.425m \\Y = S
() O & Pro]. wigczenie kanafu Dz160/160, Rz.d.=337.07 o S
S|\ = \ 3
3
®
r 3
- || Istn. wod.
w
S N
Ol
oo
I P \
=_|475.65 o 3B 217] 1.97]338.03]|340.00| ¢0.425m \ =
W [do] (&)
o) N \
3 Istn. wod.
»
[8)] —_
° ~
(@)
(@]
=_1490.15 3 1.77] 1.57]339.33|340.90 | przepiecie Sciekdéw =
€ o 90.425m =
(@)
> o |
o |o
«Q |o
&)
=
4 PN a1°
< 2 o |=
=k
o |
N = N
(&N Qo
(@]
(@)
=_[513.20 S 1.77] 1.57]340.83|342.40| ¢0.425m =
& ~ Istn. kabel telek. o
(@] \
B \
\
\
. \
P \
- \
\\\\
\
N
- \
©
o \
=_|547.10 S 1.83| 1.63[343.37|345.00|przepiecie $ciekéw z bud. dz. 2/14 obr. 47 X , =
> oo $0.425m \\ 2
&) W
>
d —_—
=2
~
e A\
= _|563.85 3 1.81]  1.61]344.79(346.40| ¢0.425m A\\\ =
2 ; Istn. kabel telek. 2
N z o
\ = .
<
571.66 345.88 Istn. kabel telek. \ '§ _:
N g
Istn. kan. 3 E
N oo
& N\ E
& \ 23
580.23 347.08 Istn. kan. g 5‘
= _|561.85 1.89| 1.69[ 347.3T| 349.00 Y o F:
<)) N \ ), 3 §
o 3 4
= _|588.50 S 1.96] 1.76[348.24|350.00| #0.425m
SN -P\\l Proj. wigczenie kanafu Dz160/160, Rz.d.=348.24
N N
=_|592.70 =) 2.67| 2.47|348.53|351.00| ¢1.0m =
0 [33) Proj. wigczenie kanafu Dz200/200, Rz.d.=348.53 1%
N Pro}. w{gczenie kanatu Dz200/200, Rz.d.=349.53
Istn. wod.
>» ©
© \
606.41 N 349.22 Istn. gaz. \ N
© rura_ochronna | N
610.16 8 349.41 Istn. wod. ,
=_1612.65 3 3.47| 3.27]349.53]|352.80| 90.425m _ =
o Proj. wigczenie kanafu Dz160/160, Rz.d.=351.28 o
2¢[El 237 (2|22 lsz
c g a c of 3 3 o) g IS E
= | @ o Vel
T al o T x| ~ ~ | 5 9 1y
SN o oA <. =)
o E o< |8 RIIZH=
o | o = o o e
(] - af . =. = T
=3 = =0 5 N % 7OU
oS BRRIGaR T T | S IFRES
a0 RN o S| L. 1 ~= =
ORRREOGIEE 2 | D |gE 2
B amsisEs~3Rg| 2|3 |2 5E C
ERTRREETRER |1 igE 2
@: = <.
g Tlopp1 =5 2|2 |2BE S
3 o [ s 82| B LEy Z
2 olclosd oz S | (33
wa (7)) olo 3. 2. ,’:‘o- =3 ©n aq - - N
4% <[3jFe o =| & S | Rlg Z
o ORI T o Z|Z|8 |52
g 5B ~| &8 0EEE
= | e 2 5, Z
B g N 3| O
| = b=
Q, = w M
8 = -
3 o S (» 63 § o
S l>| S |x - =] Z
S > 2| = & =
< = Tle 3 w
2 2 S
N o F bee
S I e ;
Q [ =] o
a oo :
ol Sla
ar a|o
o

GTM

A

obazompumo.iod nwoizod pupjw




